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QUESTION 1

Which of the following statements about Disaster Recovery is NOT true?

A. Some data loss must be accepted.

B. After a disaster access to the data, on the remote site, can be immediate.
C. Applications to work with the recovered data is in place.

D. There are still traditional backup strategies in place.

Correct Answer: A

QUESTION 2

Which statement is true?

A. An extent can be as small as 512 kB and as large as 128 MB.
B. An extent can be 128 MB, but a grain is always 64 kB.

C. An extent can be as small as 64 MB and as large as 512 MB.
D. An extent can be as small as 512 kB and as large as 64 MB.

Correct Answer: D

QUESTION 3

Based on the new industrial revolution, what are the changes in the trend of ICT? (Multiple Choice)

A. ICT trend is changing slowly with little significant changes.

B. The initial phases of ICT focuses on office automation but slowly changed towards changing business flows.
C. ICT is slowly being replaced by other new technologies such as IT and CT.

D. ICT has become the core in the production systems in the recent years.

Correct Answer: BD

QUESTION 4

You are the storage administrator of a media company that stores a lot of media files such as videos. You are asked to
propose a proper storage architecture for a new storage system that stores all the video and graphic files of the
company. The requirement is that it could run on commodity hardware in a distributed manner for unstructured dat

A. Choose which one of the following architecture would be the better option.
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B. Block Storage Architecture.

C. Clustered NAS Storage Architecture.
D. Distributed Storage Architecture.

E. Distributed Object Storage Architecture.

Correct Answer: D

QUESTION 5

Which of the following is an example of unstructured data? (Multiple Choice)
A. Images

B. SQL Databases

C. NoSQL Databases

D. Video

Correct Answer: AD
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